GR 2 U2 L3 S1	    Names _______________, ________________
1. Find the missing numbers for each problem:
	Problem
	Number of tens
	Number of ones
	Number of beans
	Number of beans (in words)

	A.
	7
	3
	
	

	B.
	2
	16
	
	

	C.
	5
	11
	
	

	D.
	2
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	E.
	8
	
	85
	

	F.
	4
	
	56
	

	G.
	15
	0
	
	

	H.
	12
	9
	
	

	I.
	10
	31
	
	



2. What is the fewest number of children that you would need to show a total of 94 fingers?  

3. What is the fewest number of children that you would need to show a total of 168 fingers?  

